EARAROBEEIERT — 2 N— IBISH —F

20195671680 (H) SEIEH6H

m$M/A\¢§2|J C1 H5%—# EREE R
[x&<£] 1 %:600,000 1  23#&:210,000 ™  33#&:120,000 @ 4 3#%:90,000 M 53 :60,000 M
B\ ®RBE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
- SN 3 e 8| — EWRE (S5)
11111 INYZAT 4 5 ;5.05' 1(4_3)7 1-1-1-1 | 39.8 1 ;1:338) E;’?:E%E
L:7U*—v B:Pv h—F7 VI r=t::4
. 5 | Wik 1:44. -3-3-3 [40.0| — 7 421 | B (SA)
1 3 K 1V i 54.0 (3)3 835|400 (1) | EHEEAD
R:2%— k770> BERUSZH AE ®E
= NG o7 | EEEH 1:44.7 2-2-2-2 | 40.7| — 2 514 | WEEGL (EH)
sEY 7|71 —TANT 56.0 ) Cn | @ 7r=xbrEvas
LEATATv— BNTYT ppal=laZ e
= oo MEHEK ; —6-4— - A (SH)
4|55 FZARIT IV s 54.0 1(;/‘2')8 Ooaa | %03 ° (4_294) E‘)&%E
LRAR=3>Tk—L B:24FTLY1-FK ity FR
N . AN EE 145, ~4-5- . — 2llE— (B
5Ky 6 HIFHFyX ' i‘:55l._0 1(435)4 a5 | 408 ! (4_799) %*1%*1]
Rix L THANAIN B ZNIVSA PR BRT7—L
0= e AR :45. -9 7| = BLRE (EH)
N | MRSV 5 B 1(425)8 10-9-8-6 | 40.7 6 (4+878) %%EE
LG/ ovveTe BIRYYIETRNIT HABSS
. I=LES : —7-7- - THBR (BH)
7l8l10| NAHIT2UT i 5 2N 1.?‘8.7 7-7-7-7 | 41.6 3 <4+z325) ez
R:g— MUEYIIL B hohdv—F EEL e
9, RS —BR ; -10-10- - THBR (BH)
glzlo|T1yny oz LA o 1(.;/%9 9-10-10-10 | 40.5 9 (4:375) et
RIALLTROY BI-—Y Tyx— g F
o= . 78118554 147, -8-9- . — ABIEEE (B
9 s | T b s~ o9 2 (11417/22) 8-8-9-9 | 41.9 8 <4+713; ol
Z:707% B:EXT7O09Y7X HE77—»4L
e B4 | HEME 1:47.3 5-5-6-8 |42.4| — 10 | 509 |APIZEA (FH)
1078 Jx2vt> 54.0 (7€) (-g) |BEENS
R:hxexY BT INR—L R4S
= o= it 4 | FIIARI - - - - - — | AREB) (BF)
w (11| T AT AT = SRR (B8) Oy | zERA
LHIRT1TIR BHILhY Y — AE
@ 1 —F—EBIE
13—7+— 1,7,3,6,8,5,10,2,9,4
2= = 1,7,3,6,8,5,10,2,4,9
ga=7"= 1,7,3,5,6,8,10,4,2,9
43—F— 1,7,3,5,6,4,10,8,2,9
[ /N
B OB 1 310H 74K 1-3 550 & 1-3 1,360 & 1-3-7 2,030
# B 1 140 1-7 270H B = =8 1,490 3@ =81 10,100M
3 270 3-7 580M B H 1-3 2,040
7 140M

ABICOVWTRDTEEERROODE. TR LIV,




